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FD< 5?B>4 ;484A<=, CB;6B?SRM<9 BEGM9EF6<FP >BAFDB?P ?<KABEFAOI, @9F4CD98@9FAOI, CD98@9FAOI 
D9;G?PF4FB6, CD<B5D9F9AAOI 6 CDBJ9EE9 <;GK9A<S 8<EJ<C?<AO. �BAFDB?P BEGM9EF6?S9FES 6 
EBBF69FEF6<< E FD95B64A<S@< (�"% EC9J<4?PABEF< < D45BK9= CDB7D4@@O GK95AB= 8<EJ<C?<AO. 

 

3.2. �@8B5@88 >F5=820=8O >1@07>20B5;P=OE 4>AB865=89 ABC45=B>2 ?@8 

?@><56CB>G=>9 0BB5AB0F88 

"J9A>4 ?<KABEFAOI, @9F4CD98@9FAOI, CD98@9FAOI D9;G?PF4FB6 EFG89AF4 CD< 6E9I 6<84I 
4FF9EF4J<< 6OD4:49FES 6 C4D4@9FD4I: 

«BK9AP 6OEB>4S », «6OEB>4S» - EBBF69FEF6G9F 4>489@<K9E>B= BJ9A>9 «>B;8G=>»; 
«8BEF4FBKAB 6OEB>4S», «6OL9 ED98A9=» - EBBF69FEF6G9F 4>489@<K9E>B= BJ9A>9 
«E>@>H>»; 
«ED98ASS», «A<:9 ED98A9=», «A<;>4S» - EBBF69FEF6G9F 4>489@<K9E>B= BJ9A>9 
«C4>2;5B2>@8B5;P=>»; 
«BK9AP A<;>4S», «CD<@<F<6A4S» EBBF69FEF6G9F 4>489@<K9E>B= BJ9A>9 
«=5C4>2;5B2>@8B5;P=>». 
!4 8<HH9D9AJ<DB64AAB@ ;4K9F9 CB 8<EJ<C?<A9 E<EF9@O 8BEF<:9A<S EFG89AF4 BJ9A<64RFES 

BJ9A>4@< CB CSF<54??PAB= L>4?9: «BF?<KAB», «IBDBLB», «G8B6?9F6BD<F9?PAB», 
«A9G8B6?9F6BD<F9?PAB». 
"EAB6B= 8?S BCD989?9A<S BJ9A>< E?G:<F GDB69AP GE6B9A<S EFG89AF4@< @4F9D<4?4, 

CD98GE@BFD9AAB7B D45BK9= CDB7D4@@B= GK95AB= 8<EJ<C?<AO. 
"J9A<64A<9 EFG89AF4 A4 8<HH9D9AJ<DB64AAB@ ;4K9F9 CB 8<EJ<C?<A9 �ABEFD4AAO= S;O> 

(�A7?<=E><=) 
&45?<J4 3. 



 

�F5=:0 

48DD5@5=F8 

@>20==>3> 
70G5B0 

"@51>20=8O : 4>AB865=8O< @57C;PB0B>2 (>F5=:0 @5H5=8O 

:><?;5:A=>3> ?@0:B8G5A:>3> 

7040=8O) 

% 

2O?>;=5==OE 

7040=89 
���>2 

 

 

 

«BF?<KAB» 

"J9A>4 «BF?<KAB» 6OEF46?S9FES EFG89AFG, 9E?< BA 7?G5B>B < CDBKAB 
GE6B<? ?9>E<K9E><= @4F9D<4? CB CDB=89AAO@ F9@4@; 
�?4899F CD46<?4@< B5D4;B64A<S @AB:9EF69AAB7B K<E?4 <@9A< 

EGM9EF6<F9?PAB7B, EF9C9A9= ED46A9A<S <@9A< CD<?474F9?PAB7B, 
6D9@9A 7DGCCO Indefinite (A4EFBSM99, CDBL98L99, 5G8GM99 
A9BCD989?9AAB9 6D9@S- B5M<= < EC9J<4?PAO= 6BCDBE ), 
Continuous (A4EFBSM99, CDBL98L99, 5G8GM99 8?<F9?PAB9 6D9@S 
-B5M<= < EC9J<4?PAO= 6BCDBE), Perfect (A4EFBSM99, CDBL98L99 
EB69DL9AAO9 6D9@S), 6ECB@B74F9?PAB7B 7?47B?4 to be (5OFP, 
A4IB8<FPES,S6?SFPES), to have(<@9FP, 6?489FP), to do. '@9EFAB 

CD<@9AS9F CD98?B7< @9EF4, 6D9@9A<, 84FO, <@S K<E?<F9?PAB9, 
D4;?<KAO9 F<CO @9EFB<@9A<S. �9DAB <ECB?P;G9F HD4;O 

D9K96B7B >?<L9. �9@BAEFD<DG9F B6?489A<9 CD46<?4@< 

HBA9F<K9E>B7B BHBD@?9A<S. �?4899F ?<A76BEFD4AB698K9E><@ 
@4F9D<4?B@. 

 
 

90-100% 

 
 

«IBDBLB» 

"J9A>4 «IBDBLB» 6OEF46?S9FES EFG89AFG, 9E?< BA A9 6 CB?AB@ 

B5N9@9 6?4899F ?9>E<K9E><@ @4F9D<4?B@ CB CDB=89AAO@ 

F9@4@. �?4899F CD46<?4@< B5D4;B64A<S @AB:9EF69AAB7B K<E?4 
<@9A< EGM9EF6<F9?PAB7BEF9C9A9= ED46A9A<S <@9A< 

CD<?474F9?PAB7B, 6D9@9A 7DGCCO Indefinite (A4EFBSM99, 
CDBL98L99, 5G8GM99 A9BCD989?9AAB9 6D9@S- B5M<= < 
EC9J<4?PAO= 6BCDBE ), Continuous (A4EFBSM99, CDBL98L99, 
5G8GM99 8?<F9?PAB9 6D9@S -B5M<= < EC9J<4?PAO= 6BCDBE), 
Perfect (A4EFBSM99, CDBL98L99 EB69DL9AAO9 6D9@S), 
6ECB@B74F9?PAB7B 7?47B?4 to be (5OFP, A4IB8<FPES,S6?SFPES), to 
have(<@9FP, 6?489FP), to do, B8A4>B <@99F 1-2 A9 7DG5O9 BL<5><. 
'@9EFAB CD<@9AS9F CD98?B7< @9EF4, 6D9@9A<, 84FO, <@S 
K<E?<F9?PAB9, D4;?<KAO9 F<CO @9EFB<@9A<S. �9DAB <ECB?P;G9F 
HD4;O D9K96B7B >?<L9. �?4899F BEAB6AO@< CD46<?4@< 
HBA9F<K9E>B7B BHBD@?9A<S. �?4899F ?<A76BEFD4AB698K9E><@ 

@4F9D<4?B@, 8BCGE>49F 
A9;A4K<F9?PAO9 BL<5><. 

 

80-89% 

 

 

«G8B6?9F6BD< 

F9?PAB» 

"J9A>4 «G8B6?9F6BD<F9?PAB» 6OEF46?S9FES EFG89AFG, 9E?< BA E?45B 
6?4899F ?9>E<K9E><@ @4F9D<4?B@ CB CDB=89AAO@ F9@4@. 
�?4899F CD46<?4@< B5D4;B64A<S @AB:9EF69AAB7B K<E?4 <@9A< 

EGM9EF6<F9?PAB7B, EF9C9A9= ED46A9A<S <@9A< CD<?474F9?PAB7B, 
6D9@9A 7DGCCO Indefinite (A4EFBSM99, CDBL98L99, 5G8GM99 
A9BCD989?9AAB9 6D9@S- B5M<= < EC9J<4?PAO= 6BCDBE ), 
Continuous (A4EFBSM99, CDBL98L99, 5G8GM99 8?<F9?PAB9 6D9@S 
-B5M<= < EC9J<4?PAO= 6BCDBE), Perfect (A4EFBSM99, CDBL98L99 
EB69DL9AAO9 6D9@S), 6ECB@B74F9?PAB7B 7?47B?4 to be (5OFP, 
A4IB8<FPES,S6?SFPES), to have(<@9FP, 6?489FP), to do, B8A4>B 

<@99F 2-3 7DG5OI BL<5><. !9 G@9EFAB CD<@9AS9F CD98?B7< 

@9EF4, 6D9@9A<, 84FO, <@S K<E?<F9?PAB9, D4;?<KAO9 F<CO 

@9EFB<@9A<S. !9 6E9784 69DAB <ECB?P;G9F HD4;O D9K96B7B 
>?<L9. %?45B 6?4899F CD46<?4@< HBA9F<K9E>B7B BHBD@?9A<S < 
?<A76BEFD4AB698K9E><@ @4F9D<4?B@. 

 

70-79% 

 "J9A>4 «A9G8B6?9F6BD<F9?PAB» 6OEF46?S9FES EFG89AFG, >BFBDO= A9 
;A49F ;A4K<F9?PAB= K4EF< CDB7D4@@AB7B @4F9D<4?4, 8BCGE>49F 

 

�B 70% 



 

 

«A9G8B6?9F6B 
D<F9?PAB» 

EGM9EF69AAO9 BL<5><. �4> CD46<?B, BJ9A>4 «A9G8B6?9F6BD<F9?PAB» 
EF46<FES EFG89AF4@, >BFBDO9 A9 @B7GF CDB8B?:<FP B5GK9A<9 59; 
8BCB?A<F9?PAOI ;4ASF<= CB 8<EJ<C?<A9. 

 

 

*%GM9EF69AAO@< BC9D4J<S@<, >BFBDO9 S6?SRFES B5N9>FB@ >BAFDB?S < BEAB6B=  >D<F9D<96 
BJ9A>< D9;G?PF4FB6 D9L9A<S ;484A<= S6?SRFES: 

 CD46<?PABEFP CD<@9A9A<S F9BD9F<K9E><I ;A4A<=; 
 A4?<K<9 CD98EF46?9A<S < <AF9DCD9F4J<< (CBSEA9A<9, D4;NSEA9A<9) 

D9;G?PF4FB6 89=EF6<=; 
 <AF9DCD9F4J<S >BA9KAOI D9;G?PF4FB6. 
 
3.3 �@8B5@88 >F5=820=8O AD>@<8@>20==>AB8 ;8G=>AB=OE, <5B0?@54<5B=OE 8 

?@54<5B=OE @57C;PB0B>2 ?@8 ?@><56CB>G=>9 0BB5AB0F88 

#D< 4A4?<;9 EHBD@<DB64AABEF< Q?9@9AFB6 B5M<I >B@C9F9AJ<= CB 6E9@ GDB6AS@ 

89SF9?PABEF< @4>E<@4?PAB9 >B?<K9EF6B 54??B6 EBEF46?S9F 35 54??B6. #B EG@@9 54??B6 
BCD989?S9FES GDB69AP EHBD@<DB64AABEF< < BJ9A>4: 

 35-33 54??B6 - «BK9AP 6OEB><=», «6OEB><=» GDB69AP, BJ9A>4 «5»; 

 32-25 54??B6 - «8BEF4FBKAB 6OEB><=», «6OL9 ED98A97B» GDB69AP, BJ9A>4 «4»; 

 24-18 54??B6 - «ED98A<=», «A<:9 ED98A97B», «A<;><=» GDB69AP, BJ9A>4 «3»; 

 17-0 54??B6 - «BK9AP A<;><=», «CD<@<F<6AO=» GDB69AP, BJ9A>4 «2». 



 

4. ���" ��0�� – ���� �"��0�/� ��"� ���/ ��/ � ����#"�'��� 

�""�!"�&�� �� #'����� ��!&������ 

 
�BAFDB?PAB-<;@9D<F9?PAO9 @4F9D<4?O (�� ) BI64FO649F A4<5B?99 4>FG4?PAO9 D4;89?O < 

F9@O CDB7D4@@O < EB89D:4F CD4>F<K9E><9 ;484A<S.  4F9D<4?O J9?BEFAB BFD4:4RF B5N9@ 

CDB69DS9@OI ?<KABEFAOI, @9F4CD98@9FAOI, CD98@9FAOI D9;G?PF4FB6. 
�?S CB87BFB6>< > CDB@9:GFBKAB= 4FF9EF4J<< EFG89AFB@ (A9 CB;8A99 K9@ ;4 20 8A9= 8B 

CDB6989A<S 8<HH9D9AJ<DB64AAB7B ;4K9F4 6 EBBF69FEF6<< E >4?9A84DAO@ 7D4H<>B@ GK95AB7B 

CDBJ9EE4) 6O84RFES 6BCDBEO < F9@4F<>4 CD4>F<K9E><I ;484A<=, EBEF46?9AAO9 <EIB8S <; FD95B64A<= 

(�"% < D45BK9= CDB7D4@@O 8<EJ<C?<AO > GDB6AR 8BEF<:9A<= D9;G?PF4FB6: 
 

 

�;0=8@C5<O5 ?@54<5B=O5 
@57C;PB0BO 

�A=>2=O5 ?>:070B5;8 >F5=:8 

@57C;PB0B0 

# 01 %HBD@<DB64AABEFP >B@@GA<>4F<6AB= 
<ABS;OKAB= >B@C9F9AJ<<, A9B5IB8<@B= 
8?S GEC9LAB= EBJ<4?<;4J<< < 
E4@BD94?<;4J<<, >4> <AEFDG@9AF4 
@9:>G?PFGDAB7B B5M9A<S 6 EB6D9@9AAB@ 
CB?<>G?PFGDAB@ @<D9; 

1. "EGM9EF6?S9F A9CB87BFB6?9AAB9 6OE>4;O64A<9 
A4 ;484AAGR F9@G <?< 6 EBBF69FEF6<< E E<FG4J<9=. 

2. �9?49F D4;69DAGFB9 EBB5M9A<9, EB89D:4M99 
6OD4:9A<9 EB5EF69AAB= FBK>< ;D9A<S, BJ9A>G 
C9D984649@B= <AHBD@4J<<. �B@@9AF<DG9F 
GE?OL4AAB9/G6<89AAB9/CDBK<F4AAB9. 

3. #D<A<@49F GK4EF<9 6 8<4?B74I (CB?<?B74I) 
D4;?<KAOI 6<8B6 (8<4?B7-D4EEG:89A<9, 8<4?B7-
D4EECDBE, 8<4?B7-CB5G:89A<9, 8<4?B7 4 B5@9A 

<AHBD@4J<9=, 8<4?B7 
4 B5@9A @A9A<S@<, 8<E>GEE<S, CB?9@<>4) A4 ;484AAGR 
F9@G <?< 6 EBBF69FEF6<< E E<FG4J<9=; CD<6B8<FP 
4D7G@9AF4J<R < 89?4FP ;4>?RK9A<S. 

4. 'FBKAS9F < 8BCB?AS9F E>4;4AAB9. �ECB?P;G9F 
489>64FAO9 Q@BJ<BA4?PAB-Q>ECD9EE<6AO9 ED98EF64, @<@<>G 
< 
:9EFO. 

# 02 6?489A<9 ;A4A<S@< B 
EBJ<B>G?PFGDAB= EC9J<H<>9 
4A7?B7B6BDSM<I EFD4A < G@9A<9 EFDB<FP 
E6B9 D9K96B9 < A9D9K96B9 CB6989A<9 
489>64FAB QFB= EC9J<H<>9; G@9A<9 
6O89?SFP B5M99 < D4;?<KAB9 6 >G?PFGD9 
DB8AB= EFD4AO < 4A7?B7B6BDSM<I EFD4A; 

1. �A49F EBJ<B>G?PFGDAO= CBDFD9F EFD4A, 
7B6BDSM<I A4 <;GK49@B@ S;O>9; >G?PFGDAB9 
A4E?98<9 EFD4A <;GK49@B7B S;O>4. 

2. '@99F CD98EF46?SFP DB8AGR >G?PFGDG A4 
<ABEFD4AAB@ S;O>9. A4IB8<F EIB8EF6B < 
D4;?<K<9 6 FD48<J<SI E6B9= EFD4AO < 
EFD4AO/EFD4A <;GK49@B7B S;O>4. 

3.  B:9F B>4;O64FP CB@BMP ;4DG59:AO@ 
7BEFS@ 6 E<FG4J<SI CB6E98A96AB7B B5M9A<S. 



 

 

 

(BD@<DB64A<9 ?<KABEFAOI D9;G?PF4FB6 B59EC9K<649FES 6 IB89 D94?<;4J<< 6E9I >B@CBA9AFB6 
B5D4;B64F9?PAB= 89SF9?PABEF<, 6>?RK4S 6A9GDBKAGR 89SF9?PABEFP. 

� EBBF69FEF6<< E FD95B64A<S@< (�"% %"" 8BEF<:9A<9 ?<KABEFAOI D9;G?PF4FB6 A9 
6OABE<FES A4 <FB7B6GR BJ9A>G B5GK4RM<IES. 

�F5=:0 ;8G=>AB=OE @57C;PB0B>2 B5D4;B64F9?PAB= 89SF9?PABEF< @B:9F BEGM9EF6?SFPES 6 
IB89 6A9LA<I A9C9DEBA<H<J<DB64AAOI @BA<FBD<A7B6OI <EE?98B64A<=. �AGFD9AA<= @BA<FBD<A7 
BD74A<;G9FES 48@<A<EFD4J<9= >B??98:4 < BEGM9EF6?S9FES CD9CB8464F9?S@< < >GD4FBD4@< 

CD9<@GM9EF69AAB A4 BEAB69 9:98A96AOI A45?R89A<= 6 IB89 GK95AOI ;4ASF<= < 6A9GDBKAB= 
89SF9?PABEF<, >BFBDO9 B5B5M4RFES 6 >BAJ9 GK95AB7B 7B84. 

�F5=:0 <5B0?@54<5B=OE @57C;PB0B>2 CD98EF46?S9F EB5B= BJ9A>G 8BEF<:9A<S 
C?4A<DG9@OI D9;G?PF4FB6 BE6B9A<S GK95AB7B CD98@9F4. 

"J9A>4 8BEF<:9A<S @9F4CD98@9FAOI D9;G?PF4FB6 BEGM9EF6?S9FES 48@<A<EFD4J<9= >B??98:4 
6 IB89 6AGFD9AA97B @BA<FBD<A74. 

�F5=:0 ?@54<5B=OE @57C;PB0B>2 CD98EF46?S9F EB5B= BJ9A>G 8BEF<:9A<S B5GK4RM<@<ES 
C?4A<DG9@OI D9;G?PF4FB6 CB GK95AB@G CD98@9FG. 

#D<@9K4A<9: C9D9K9AP FD95B64A<= > GDB6AR CB87BFB6>< B5GK4RM<IES 6OEF46?S9FES A4 E4=F 
8?S B;A4>B@?9A<S EFG89AFB6. 

�B@C?9>F ��  8?S CDB6989A<S CDB@9:GFBKAB= 4FF9EF4J<< (64D<4AFO ;484A<=) 
CD98EF46?9AO 6 CD<?B:9A<< 1 > A4EFBSM9@G 8B>G@9AFG. 
 

 
 

 

 

 
 

 

 

# 03 8BEF<:9A<9 CBDB7B6B7B GDB6AS 
6?489A<S 4A7?<=E><@ S;O>B@, CB;6B- 
?SRM97B 6OCGE>A<>4@ B5M4FPES 6 GEFAB= 
< C<EP@9AAB= HBD@4I >4> E ABE<F9?S@< 
4A7?<=E>B7B S;O>4, F4> < E 
CD98EF46<F9?S@< 8DG7<I EFD4A, 
<ECB?P;GRM<@< 84AAO= S;O> >4> ED98EF6B 
B5M9A<S. 

1. �A49F BEAB6AO9 D4;?<K<S E<EF9@ 4A7?<=E>B7B < 

DGEE>B7B S;O>B6: • A4?<K<9 7D4@@4F<K9E><I S6?9A<=, A9 
CD<EGM<I DGEE>B@G S;O>G (4DF<>?P, 79DGA8<= < 8D.); • 
D4;?<K<S 6 B5M<I 8?S B5B<I S;O>B6 7D4@@4F<K9E><I 
S6?9A<SI (DB8 EGM9EF6<F9?PAOI, CD<FS:4F9?PAO= C489:, 
6<8B6D9@9AAO9 HBD@O, CBEFDB9A<9 BFD<J4F9?PAOI < 

6BCDBE<F9?PAOI CD98?B:9A<=, CBDS8B> K?9AB6 
CD98?B:9A<S < 8D.). 

2. �A49F BEB59AABEF< 7D4@@4F<K9E>B7B BHBD@?9A<S 
GEFAOI < C<EP@9AAOI F9>EFB6; G@99F <;@9ASFP 
7D4@@4F<K9E>B9 BHBD@?9A<9 6OE>4;O64A<S 6 ;46<E<@BEF< 
BF >B@@GA<>4F<6AB7B A4@9D9A<S. 

3. "CD989?S9F EFDG>FGDG CDBEFB7B < E?B:AB7B 
CD98?B:9A<S, GEF4A46?<649F ?B7<K9E><9, 6D9@9AAO9, 
CD<K<AAB-E?98EF69AAO9, EBK<A<F9?PAO9, 
CB8K<A<F9?PAO9 < 8DG7<9 E6S;< < BFABL9A<S @9:8G 
Q?9@9AF4@< CD98?B:9A<S < F9>EF4. 

4. #<L9F C<EP@4 < ;4S6?9A<S, 6 FB@ K<E?9 
Q?9>FDBAAO9, 

?<KAB7B < 89?B6B7B I4D4>F9D4 E EB5?R89A<9@ 
CD46<? BHBD@?9A<S F4><I C<E9@. 

5. %BEF46?S9F D4;69DAGFO= C?4A, >BAEC9>F, D9H9D4F, 
4AABF4J<R GEFAB7B 6OEFGC?9A<S <?< C9K4FAB7B F9>EF4, 6 
FB@ K<E?9 8?S 84?PA9=L97B <ECB?P;B64A<S 6 GEFAB= < 

C<EP@9AAB= D9K< (A4CD<@9D, 6 8B>?484I, <AF9D6PR, 
EB59E98B64A<SI, EB69M4A<SI, C9D97B6BD4I). 



 

�0@80=B 1 

1.Choose the correct answer. 
Acid rains is already destroying large areas of &&&. 
a-forest 

b-expensive shops        

c-hovercraft 

2.Fill in the gap. 

My dad&&&.two books every week. 
a-reads 

b-read 

c-will read 

3.Choose the necessary word. 
Every year the Guineas Book of Records announces........ person in the world. 

a-high 

b-the highest 

c-higher 

4.Choose the correct alternative, A,B or C to complete the sentences. 

I &&..go to see the doctor last week because I was very ill. 
a-must 

b-had 

c-had to 

5.Choose the correct alternative. 
The temperature ... 20 °C tomorrow. 

a-reaches 

b-is going to reach 

c-will reach 

6.Insert the appropriate word. 

There isn’t a cloud in the sky, but it&&& cloudy in the morning. 
a-is 

b-was 

c-were 

7.Put the words into the correct order. 
Weekend do what you would to this like? 

8.Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

tower someone stole Last the bell from the bellnight 

9.Match the English words to the translation. 

1)gold earrings                    a)EB?B@9AA4S L?SC4 
2)leather gloves                   b)I?BC>B64S HGF5B?>4 
3)strawhat                          E)@4F9DK4F4S EG@>4 
4)clothbagd)>B:4AO9 C9DK4F>< 

5)cotton T-shirt                    e);B?BFO9 E9D9:>< 
6)fire station                         f);46B8 
7)factory                               g):.8. 6B>;4? 
8)train station                       h)CB:4DAB9 89CB 
10.Write a composition. 
Describe the appearance of the people in your family. 

Answer key. 

1.a 

2.a 

3.b 

4.c 



 

5.c 

6.b 
7.what would you like to do this weekend? 

8.Last night someone stole the bell from the bell tower 

9.1-e, 2-d, 3-a, 4-c, 5-b, 6-h, 7-f, 8-g 
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1.Choose the correct answer. 
There was still snow on the &&&..tops. 
a-waterfall        b-beach          c-mountain 

2.Fill in the gap. 

&&..your sister go in for sports? 
a-is 

b-do 

c-does 

3.Choose the necessary word. 
In my opinion the tiger is ...........animal of all. 

a-more dangerous 

b-the dangeroustest 

c-the most dangerous 

4. Choose the correct alternative, A,B or C to complete the sentences. 

When will you&&& come and see us in our new house? 
a-can 

b-be able to 

c-must 

5. Choose the correct alternative. 
I think I ... this piece of cake. It looks delicious! 

a-am going to take 

b-will take 

c-will be taking 

6. Insert the appropriate word. 

Mrs. Clay usually finishes her work at half past three, but she&&&it later yesterday afternoon.  
a-finish 

b-finishes 

c-finished 

7.Put the words into the correct order. 
Dictionary why got you haven't a? 

8.Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

o’clockIt at midnight not onerangbutat 
9. Match the English words to the translation. 

1)Scuba diving                          a)EG8 

2)Huge square                           b)CB:4DAB9 89CB 
3)Busy road                              E):.8. 6B>;4? 
4)Crowded beach                      d);46B8 
5)Train station                          e)B:<6?ёAA4S 8BDB74 
6)Fire Station                            f)5B?PL4S C?BM48P 
7)Factory                                   g)5<F>B@ A45<FO= C?S: 

8)Courthouseh)CB86B8AB9 C?464A<9 
10.Write a composition. 
Describe the capital city of your country. 

Answer key. 
1.c 

2.c 

3.c 

4.b 

5.b 

6.c 



 

7.why haven't got you a dictionary? 

8.It rang at midnight but not at one o’clock. (ring). 
9.1-h, 2-f, 3-e, 4-g, 5-c, 6-b, 7-d, 8-a 
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1.Choose the correct answer. 
There were some boys swimming in the&&. 
a-cliff      b-lake       c-bus 

2.Fill in the gap. 

Every Sunday we & to the theatre. 
a-does go 

b-go 

c-are going 

3.Choose the necessary word. 
Their car was twice as ......... as ours. 

a-more expensive 

b-expensive 

c-the most expensive 

4. Choose the correct alternative, A,B or C to complete the sentences. 

You’ve been travelling all day. You ........ be tired. 
a-can 

b-must 

c-need to 

5. Choose the correct alternative. 
I am not sure if she ... her exams. 

a-will be passing 

b-will have passed 

c-will pass 

6. Insert the appropriate word. 

Every day I help my Mom about the house, but last week I was very busy with my exam. So  

I&&& her much. 
a-not helped 

b-didn’t helped 
c-didn’t help 
7. Put the words into the correct order. 

English you start did learning when? 

8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 
thought that a thief off it Someperhapsdrovewith 

9. Match the English words to the translation. 
1)painting                              a)HBFB7D4H<DB64A<9 
2)collecting thingsb)E>4?B?4;4A<9 
3)scuba diving                        c)>BAP>B59:AO= ECBDF 
4)model buildingd)BF8OI 6 >9@C<A79 
5)ice-skatinge)CBEFDB9A<9 @B89?< 
6)rockclimbingf)CB86B8AB9 C?464A<9 
7)takingphotographsg)>B??9>J<BA<DB64A<9 69M9= 

8)campingh)D<EB64A<9 
10.Write a composition. 

Write a short email to your pen pal about last weekend. 

Answer key. 

1.b   2.b 

3.b   4.b 

5.c    6.c 
7.when did you start learningEnglish? 8.Some thought that perhaps a thief drove off with it. 

(drive).   9.1-h, 2-g, 3-f, 4-e, 5-c, 6-b, 7-a, 8-d 



 

�0@80=B 1 

1.Choose the correct answer. 
A place where people stay when they are ill or injured. 

a-bank           b-hospital          c-cityhall 

2.Fill in the gap. 

&&&.it difficult to concentrate on your work with this music on? 

a-Are you finding 

b-Do you find 

c-Have you found 

3.Choose the necessary word. 
I’m not going to swim today: the water is &&.. than yesterday. 
a-cold 

b-colder 

c-the coldest 

4. Choose the correct alternative, A,B or C to complete the sentences. 

You can’t turn here. You ... turn left there. 
a-must 

b-will 

c-could 

5. Choose the correct alternative. 
It’s too late to call him now. I think I ... him tomorrow. 
a-will call 

b-will be calling 

c-will be calling 

6. Insert the appropriate word. 

Now my brother smokes a lot, but he&&&. before. 
a-hadn’t smoked 
b-didn’t smoke 
c-not smoked 

7. Put the words into the correct order. 
summer  Paris  to went last who? 

8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

The to the of a watermelonfreakgrewsizepotato 

9. Match the English words to the translation. 

1)hoover the carpetsa)CB69E<FP 59?P9 EGL<FPES 
2)lay the tableb)CB?<64FP J69FO 

3)mop the floor                            c)@OFP B>A4 
4)mowthelawnd)6O><8O64FP @GEBD 
5)take out the rubbish                  e)EFD<KP 74;BA 
6)clean the windows                    f)@OFP CB? 
7)water the plants                         g)A4>DO64FP A4 EFB? 
8)hang the washing out to dry      h)CO?9EBE<FP >B6DO 

10.Write a composition. 
Try to describe your future job. 

Answer key. 

1.b 

2.b 

3.b 

4.a 

5.a 

6.b 



 

7.who went to Paris last summer? 

8.The freak potato grew to the size of a watermelon. (grow). 

9.1-h, 2-g, 3-f, 4- e, 5-d, 6-c, 7-b, 8-a. 

 

�0@80=B 2 

1.Choose the correct answer. 
An aircraft with large metal blades on top that spin and lift it into the air. 

a-yacht          b-helicopter           c-ferry 

2.Fill in the gap. 

He denied having broken the vase, but I still ... to believe him. 

a-refuses 

b-am refusing 

c-refuse 

3.Choose the necessary word. 
That was &&. movie I had ever watched. I’m awfully disappointed. 
a-the baddest 

b-the best 

c-the worst 

4. Choose the correct alternative, A,B or C to complete the sentences. 

You ... always wear a life jacket when you go canoeing. 

a-can 

b-have to 

c-should 

5. Choose the correct alternative. 
You &&..in Paris tomorrow evening. 
a-arrive 

b-will arrive 

c-arriving 

6. Insert the appropriate word 

I &&.. to the market myself last time, but now I don’t remember how to get there. 
a-getted 

b-goted 

c-got 

7. Put the words into the correct order. 
flowers  Mike’s  grow  in  what  garden? 
8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

Tuesday ate fried and rolls Lastwericespringinstead 

9. Match the English words to the translation. 

1)poison yourselfa)GFBC4FP 
2)burn yourselfb)CB?GK<FP 5B?PAB= G>GE 
3)bangyourheadc)CBD9;4FPES 
4)twistyourankled)CB?GK<FP EB?A9KAO= B:B7 
5)getsunburne)6O6<IAGFP ?B8O:>G 
6)cutyourselff)G84D<FP 7B?B6G 
7)get a nasty bite                    g)B5:9KPES 
8)drown                                  h)BFD46<FPES 
10.Writea composition. 

Write an email to your pen pal about ways to help protect the environment. 

Answer key. 

1.b 

2.c 



 

3.c 

4.b 

5.b 

6.c 
7.whatflowers grow in Mike’s garden? 
8.Last Tuesday we ate fried rice and spring rolls instead. (eat). 

9.1-h, 2-g, 3-f, 4- e, 5-d, 6-c, 7-b, 8-a. 
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1.Choose the correct. 
An area of water near the land where it is safe for boats to stay. 

a-square         b-beach         c-harbour 

2.Fill in the gap. 

I ... what you are talking about. 

a-don’t know 

b-am not knowing 

c-hasn’t known 
3.Choose the necessary word. 
Who’s &&& in your family? 3 Our Granny is. She is 88. 

a-oldest 

b-the eldest 

c-older 

4. Choose the correct alternative, A,B or C to complete the sentences. 

It’s later than I thought. I ... go. 
a-will 

b-can 

c-must 

5. Choose the correct alternative 
Perhaps they&&. a new house this year. 
a-bought 

b-will buy 

c-buying 

6. Insert the appropriate word. 

Looking through the paper, the teacher &&.. several mistakes. 
a-finded 

b-founded 

c-found 

7. Put the words into the correct order. 
now  where  they  walking  are? 

8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

Pond  froze last Miller’ssolidwinter 
9. Match the English words to the translation. 

1)point with your index fingera)7DO;FP AB7F< 
2)kiss on the check                                    b)FDSEF< 7B?B6B= 
3)yawnc)>?4ASFPES 
4)crossyourarmsd)E>D9EF<FP AB7< 
5)cross your legs                                        e)E>D9EF<FP DG>< 

6)bow                                                         f);964FP 
7)shake hands                                            g)J9?B64FP 6 M9>G 
8)biteyournailsh)G>4;O64FP G>4;4F9?PAO@ C4?PJ9@ 

10.Write a composition. 



 

Describe the best way how to spend weekends. 

Answer key. 

1.c 

2.a 

3.a 

4.c 

5.b 

6.c 
7.whereare they walking now? 

8.Miller’s Pond froze  solidlast winter. (freeze). 
9.1-h, 2-g, 3-f, 4- e, 5-d, 6-c, 7-b, 8-a. 
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1.Choose the correct answer. 
A flat round piece of of metal with special designs on it, used as money. 

a-key ring               b-coin            c-bracelet 

2.Fill in the gap. 

I used to work in a shop, but now I ... in an office. 

a-am working 

b-work 

c-have worked 

3.Choose the necessary word. 
Health and happiness are ... than money. 

a-important 

b-the most important 

c-more important 

4. Choose the correct alternative, A,B or C to complete the sentences. 

<You ... follow a healthy diet,= the doctor said. 
a-can 

b-ought to 

c-must 

5. Choose the correct alternative. 
There&&.. any wars in the world. 
a-aren’t  
b-will not be 

c-not’ll be 

6. Insert the appropriate word. 

Don’t worry about your letter. I &&..it the day before yesterday. 
a-sended 

b-have sent 

c-sent 

7. Put the words into the correct order. 
charge  denied  why  has  a  Lola? 

8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

My took voice last friendlessonswinterAnna 

9. Match the English words to the translation. 

1)learn to play a musical instrumenta)89?4FP D45BFG CB 8B@G 
2)eatlessjunkfoodb)D97G?SDAB GCD4:ASFPES 
3)readabookeveryweekc)BE64<64FP AB6O= 6<8 ECBDF4 
4)savemoneyd)GK4EF6B64FP 6 CDB9>F9 D9J<D>G?SJ<< 
5)take part in a recycling project                 e)Q>BAB@<FP 89AP7< 



 

6)learn to play a new sport                           f)K<F4FP >A<7G >4:8GR A989?R 

7)exerciseregularlyg)9EFP @9APL9 6D98AB= C<M< 

8)domorechoresh)GK<FPES <7D4FP A4 @G;O>4?PAB@ <AEFDG@9AF9 
10.Write a composition. 
Write some ideas about weather conditions in your country. 

Answer key. 

1.b 

2.b 

3.c 

4.c 

5.b 

6.c 
7.why has Lola denied a charge? 

8.My friend Anna took voice lessons last winter. (take). 

9.1-h, 2-g, 3-f, 4- e, 5-d, 6-c, 7-b, 8-a. 
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1.Choose the correct answer 
A valuable yellow metal used for making jewellery. 

a-silver                   b-gold             c-wool 

2.Fill in the gap. 

Water ... at 100ºC. 

a-is boiling 

b-has boiled 

c-boils 

3.Choose the necessary word. 
They are ....... people, far &&. than you. 
a-good / better 

b-better / the best 

c-good / good 

4. Choose the correct alternative, A,B or C to complete the sentences. 

Well, we’ve got plenty of time. We ... leave yet. 
a-mustn’t 
b-don’t need to 
c-must 

5. Choose the correct alternative 
I'm tired. I&&. to bed. 
a-I’ll go 
b-I  go 

c-I’d go 
6. Insert the appropriate word 

We &&&.a holiday last year. 
a-didn’t have 

b-haven’t had 
c-haven’t had 
7. Put the words into the correct order. 
When visit  grandmother  will  we our? 

8. Put the words into the correct order. Underline an irregular  past  tense  verb in each 

sentence. Then write the  present  tense  form. 

ate on nightsusuallyTuesdaypizzaWe 

9. Match the English words to the translation. 

1)lie on a golden sandy beacha)6;5<D4FPES A4 6G?>4A 



 

2)visitpyramidsb)CDB5B64FP @9EFAGR 98G 
3)go on a safari                                          c)@474;<A EG69A<DB6 
4)swimwithdolphinsd)CGF9L9EF6<9 C9L>B@ 

5)hikee)C?464FP E 89?PH<A4@< 
6)shopforsouvenirsf)<8F< A4 BIBFA<KPR Q>EC98<J<R 

7)try local dishes                                          g)CBE9F<FP C<D4@<8O 

8)climbavolcanoh)?9:4FP A4 ;B?BFB@ C9EK4AB@ C?S:9 
10.Write a composition. 
Write predictions about what life will be like in 50 years. 

Answer key. 

1.b 

2.c 

3.a 

4.b 

5.a 

6.a 
7.When will we visit our grandmother? 

8.We usually ate pizza on Tuesday nights. (eat). 

9.1-h, 2-g, 3-f, 4- e, 5-d, 6-c, 7-b, 8-a. 
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#A;>28O ?@>2545=8O 48DD5@5=F8@>20==>3> 70G5B0. 
5.1 �>43>B>2:0 : ?@>2545=8N 48DD5@5=F8@>20==>3> 70G5B0 

�<HH9D9AJ<DB64AAO= ;4K9F CDB6B8<FES ;4 EK9F 6D9@9A<, BF6989AAB7B GK95AO@ C?4AB@ A4 
<;GK9A<9 GK95AB= 8<EJ<C?<AO. �4F4 CDB6989A<S 8<HH9D9AJ<DB64AAB7B ;4K9F4 8B6B8<FES 
CD9CB8464F9?9@ 8B E6989A<S B5GK4RM<IES A9 CB;8A99, K9@ ;4 869 A989?< 8B A4K4?4 CDB@9:GFBKAB= 
4FF9EF4J<<. �B?<K9EF6B 6BCDBEB6 < CD4>F<K9E><I ;484K 6 C9D9KA9 8?S CB87BFB6>< > CDB@9:GFBKAB= 
4FF9EF4J<< A9 CD96OL49F >B?<K9EF6B 6BCDBEB6 < CD4>F<K9E><I ;484K, A9B5IB8<@OI 8?S EBEF46?9A<S 
>BAFDB?PAB-<;@9D<F9?PAOI @4F9D<4?B6 (?9>E<>B-7D4@@4F<K9E>B7B F9EF4). !4 BEAB69 
D4;D45BF4AAB7B < B5NS6?9AAB7B B5GK4RM<@ES C9D9KAS 6BCDBEB6 < CD4>F<K9E><I ;484K, 
D9>B@9A8G9@OI 8?S CB87BFB6>< > 8<HH9D9AJ<DB64AAB@G ;4K9FG, EBEF46?SRFES 64D<4AFO, 
EB89D:4A<9 >BFBDOI 8B B5GK4RM<IES A9 8B6B8<FES. �BCDBEO < CD4>F<K9E><9 ;484K< ABESF 
D46ABJ9AAO= I4D4>F9D. (BD@G?<DB6>< 6BCDBEB6 K9F><9, >D4F><9, CBASFAO9, <E>?RK4RF 86B=AB9 
FB?>B64A<9. (BD@4 CDB6989A<S 8<HH9D9AJ<DB64AAB7B ;4K9F4 CB 8<EJ<C?<A9 E@9L4AA4S 
GEF4A46?<649FES 6 A4K4?9 EBBF69FEF6GRM97B E9@9EFD4 < 8B6B8<FES 8B E6989A<S B5GK4RM<IES. 

5.2 �@>2545=85 48DD5@5=F8@>20==>3> 70G5B0 

�<HH9D9AJ<DB64AAO= ;4K9F CDB6B8<FES 6 GK95AB@ >45<A9F9. !4 6OCB?A9A<9 ;484A<S CB A4 
8<HH9D9AJ<DB64AAB@ ;4KёF9 EFG89AFG BF6B8<FES A9 @9A99 B8AB7B 4>489@<K9E>B7B K4E4. "J9A>4, 
CB?GK9AA4S A4 8<HH9D9AJ<DB64AAB@ ;4K9F9, ;4ABE<FES CD9CB8464F9?9@ 6 ;4K9FAGR >A<:>G EFG89AF4 
< ;4KёFAGR 698B@BEFP (>DB@9 A9G8B6?9F6BD<F9?PAB=). �4K9FA4S BJ9A>4 CB 8<EJ<C?<A9 ;4 84AAO= 
E9@9EFD S6?S9FES BCD989?SRM9=, A9;46<E<@B BF CB?GK9AAOI 6 E9@9EFD9 BJ9AB> F9>GM97B >BAFDB?S 
CB 8<EJ<C?<A9. 
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Н4CD<@9D: 
 

!4CD<@9D: ВO59D<F9 BF69FAGN HD4;G 8?O EBKG6EF6<O. 
"F69F: What a pity! 

 

ВFBD4O K4EFP 8<H.;4K9F4 – 7D4@@4F<K9E><9 ;484A<O. З484A<O 6>?NK4NF 6 E95O: 
CB8EF4AB6BKAO9 GCD4:A9A<O A4 6O5BD B8AB= <; 7D4@@4F<K9E><I HBD@. 

 

!4CD<@9D: '>4:<F9 69DAGN ?<KAGN HBD@G 7?47B?4 to be 6 E?98GNщ9@ CD98?B:9A<<: 
They at work yesterday. 

1. are 2. will 3. were 

"F69F: 3. were 

 

&D9FPO K4EFP – ЧF9A<9, 6 >BFBDB= A9B5IB8<@B CDBK<F4FP F9>EF < 6OCB?A<FP 
CBE?9F9>EFB6O9 GCD4:A9A<O. Д4AAO= D4;89? 6>?NK49F KF9A<9 A4 B5щ99 CBA<@4A<9, CB<E>B6B9 

KF9A<9(CB<E> >BA>D9FAB= <AHBD@4J<<), 84FP BF69F A4 6BCDBEO > F9>EFG. 
�0?@8<5@: !4=8<F9 6 F9>EF9 BF69F A4 6BCDBE. What is the reason of appearing of such a global 

problem as informal groups?  

�B25B: They have appeared as a kind of protest against the values and lifestyles of the older 

people and this is also a problem of youth. 

 

 
« » 20 7. #D9CB8464F9?P 
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Ра745? 1. ЧF5A85 

�040=85 1. #DBK<F4=F9 F9>EF < 6OCB?A<F9 GCD4:A9A<S. 
My aunt 

Of all the relatives I like my Aunt Emily the best. She is my mother’s younger sister. She is in 
her late fifties, but she is quite young in character. She has thick, straight brown hair and dark brown 

eyes. She has a kind face and when you meet her the first things you notice is her smile. I think she is 

still rather beautiful. Aunt Emily is the sort of person you can always go if you have a problem. 

She likes reading and gardening and she still goes for long walks. She is a very active person. 

She is always doing some things ,cleaning, cooking, sewing. She is extremely kind- hearted but she does 

not like it when people do not agree with her. 

I would like to be like my aunt when I am her age. 

 
!4=8<F9 <AHBD@4J<R 6 F9>EF9: 
1. Aunt’s Emily’s face 

2. Her character 

3. Her likes and dislikes 
 

Ра745? 2. Л5>E8>а 

�040=85 2. #9D9698<F9 A4 DGEE><= S;O>. 
1. Lucilly is strong , tall, kind and gay with big green eyes and blonde hair. She is beautiful. 



2. Jack is handsome , tall, strong. He is a good sportsman. He swims well. He plays tennis 

every day. He has black clever eyes and wavy hair. 

3. She is tall , thin and beautiful. She has long wavy hair and big brown eyes. 

4. He is not tall, but he is stout. He has short brown hair and not big blue eyes. 

5. This is my mother. My mother’s name is Mila. She is not tall and not short. She is slender. 

Her hair is 

straight , blond and short. Her eyes are not big but clever and green. 

6. This is my father . My father’s name is Nick. He is tall and slender. He has short red hair 

and little green eyes. 

 
�040=85 3. #9D9698<F9 A4 4A7?<=E><= S;O>. 
1. "A4 8B6B?PAB-F4>< E<@C4F<KA4S , 6OEB>4S , EFDB=A4S E 5B?PL<@< 7B?G5O@< 

7?4;4@< < 8?<AAO@< 6PRM<@<ES 6B?BE4@<. 
2. "A E<?PAO=, 6OEB><= , >D9C>B7B F9?BE?B:9A<S. ' A97B >BDBF><9 CDS@O9 6B?BEO , 

>4D<9 7?4;4. 
3. "A4 A96OEB>4S :9AM<A4 E 8B5DO@< >4D<@< 7?4;4@<. �B?BEO G A99 6PRFES. "A4 

ABE<F >BEG. ( She wears a pig 3 tail. ) 

4. "A A9E<?PAB7B F9?BE?B:9A<S , A9 BF?<K49FES 6OEB><@ DBEFB@. ' A97B ;9?9AAO9 
G@AO9 7?4;4 < CDS@O9 >BDBF>B CB8EFD<:9AAO9 6B?BEO. 

 

Ра745? 3. ГDа@@аF8>а 

�040=85 4. #BEF46PF9 4DF<>?<, 789 QFB A9B5IB8<@B. 
 

1     Mall is a wide avenue leading from Trafalgar Square to     Buckingham Palace, 

 

the residence of the English kings. 2.   Bolshoi Theatre is famous for its ballet performances. 3. 

My       favourite subject at       school was        biology. 4. He made       _gross mistake. economists can't 

make such        mistakes. 5. _ Pacific is largest Ocean on our planet. 6. 

  Urals are old and not very high.7. Look out! cat is on     TV! 8. On one hand, 

 facts he presented are true, but on other hand, I can't trust them. 9. air was fresh and 

cool. 10.  oil is lighter than _ water. 11.  life is impossible without 

water and air. 12. Could you tell me     time, please? - It'squarter past six. 13. She usually 

goes shopping on  Thursdays, but last Thursday she didn't do shopping. She had 

to go to dentist's. 

 

�040=85 5. !4C<L<F9 @AB:9EF69AAB9 K<E?B EGM9EF6<F9?PAOI 
 

Knowledge, fruit, story, play, prize, child, goose, roof, bush, name, key, sheep, woman, class, 

cup, city, page, tooth, ox, news, sugar, flag, knife, mouse, foot, deer, money. 

 

�040=85 6. $4E>DB=F9 E>B5><, GCBFD95<6 AG:AGR EF9C9AP CD<?474F9?PAB7B /A4D9K<S. 
 

1.Winter is (cold) season of the year. 2. Moscow is (large) than St.Petersburg. 3. Which is(long) 

day of the year? 4. The Alps are (high) mountains in Europe .5. Even (long) day has an end. 6. It is one 

of (important) questions of our conference. 7. Your English is (good) now. 8. Who knows him (well) 

than you. 9. We have (little) interest in this work than you. 10. Health is (good) than wealth.11. Your son 

worked (well) of all. 12. Today you worked (slowly) than usually. 
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